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1) 9,002 - 4,867 =

Word Problem

A table seats groups of 6 children.

2)72-19= How many fables are needed for 45
3) 94x100= children?
4) 84:3=
5) 2x8x6=
Explain it Chdllenge

Fin says the perimeter of this shape is
20cm. Is he right2 Explain how you know.

5cm

Fiona had between 30 and 50 beads.

She counted the bead in fours and had 2
left over.

She counted the beads in fives and had 1
left over.

How many beads did Fiona have?
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1) 9,002 4,867 = 4135
2) 72-19=9.1

3) 94x 100 = 9400

4) 84:3=28

5) 2x8x6=96

Word Problem

A table seats groups of 6 children.
How many fables are needed for 45
children? 8 fables

Explain it

Fin says the perimeter of this shape is
20cm. Is he right2 Explain how you know.

5cm

He is incorrect. If the shape was a square
the perimeter would be 20cm, but he
needs fo know the length of the long side

to work out the perimeter of this rectangle.

Challenge
Fiona had between 30 and 50 beads.

She counted the bead in fours and had 2
left over.

She counted the beads in fives and had 1
left over.

How many beads did Fiona have?
She has 46 beads





